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ey fRET

-

QT 7H, ghgame a e 7=
A% : 1 (TH) T

TSRYT T[T : 100

el

(1) T FeAgRadd 100 FaE 9 . IganEt gyt It Rifvare geara st @1 ywyfeeha v
o9 TR fohan Tdtd AT WO A T 31T 999 A S 4N Aewead & IYRRIH SHaEEThEd
UEEEGLR=IC

(2) oT9eT THATHHTH T R

. X b

(3) I B SYFGIRT Ui G FRuGRea fafime Irfi Soufrralia gemmm 1 forrar aug Far.

(@) () T IEYEEHAE TS TER 4 Tt Int gafeel s s 1, 2, 3 It 4 oW sk o e

N AR Iq0h Tata A ITE wHIE Il gEATEe qHSAT IR TG wEl. S
TR ITUfrhat STGHAIS g FEHT Ol HEftd STRRTREE ST HE quiae wise arE
FTcl} AT, PTRREAT 66 HTedl FTE aiefd ard, e ar v O aus 1.

(@) manm = faamaTdl wudl eia el e i Fee oy, s ey v wdt
TaTE AT TPt g ughar.

(5) Td WY HUH U 3MTEd. AT G YR I . 9gYS g% SR ATEN A gEa 93Ae W
foasar IR 9 diaEd. A I Sl U AR 99 TETEr Ued S8 STeea™ el 9 A
Tt géie I¥TES awTE. 1 YHR ¥aesl WA tieeeare 98 fiiras afte sl g
FIBATIT THHS T TR 3.

(6) ITGHA TohaT TG Heldl IT Wiedl JuR 16T, g Had I @g T TN eare § auwe o
.

(7) WA T ITUTHHT Yraith HAHT IHEEHTSAT ITURIRAIA arg I ot faet wreter. s

A,
arbig

o wvfAaTEt smar fafge Fec I@ deude @ wyAgferen srav wrerwen gw ft udgremera TearTen
wfigraTdt FravaTE var 9w Ay, ft I8 Wiwedd wer wvRgiere ya/ g, ffer wq svgfensde s s
TUTETE T AW AT AT HIVIEATE saare QIaey, wf afing weor gt et ot Sreft et aom=an
SERiTE AR AT Herear *wdtermed gomar RmewnEr wiies s wararaaar afifam-82” arde mgdaer
TE T FIETE TR HHATE HOATT A T e s weTe U ST SIS STt/ fiar sud
T TR AT T8 trd o frde.

o T wvAirRETd fafgn FRe dw suvaremt € gl saftgautt atem @ gt TR o AR wwnd
Jﬂmﬁﬂﬂmﬂaﬁﬁamwﬁﬁﬁrﬁvmgﬁﬁ.- I

gIdtar Tga=AaT gestyizdadsear 3ffara gssrazs a=asr

-
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gt faum fo=me =
A, 25 a1 Rew ade W o wmm g Fen @
T, 25 REr g Raw o gagm T v | S S

TR Frora/dl fauE/A sEt 8/ ?
(1) %ad 3 (2) R A
(3) ¥ anfors (4) IT9ehT AT

Consider the following statements :

a. 25 January is celebrated as a National Tourism Day.

b. 25 January is celebrated as a National Voters’ Day. |

Which of the statements given above is/are correct ?

(1) onlya (2) onlyb

(3) aandb (4) None of the above

2. WRATSAT TS TR TTeredl JeeWnTaiiel hivedy age Ay soae 3R o ?

1) ¥ (@ fdm

(3) Ao (4) HTeH-SHTFETEE

India’s Mars Orbiter Mission has an objective of detecting which gas on the surface
of Mars ?

(1) Ethane (2) Methane

(8) Oxygen (4) Carbon-dioxide

3. A W AET (WRATS SEREIE)

. dt. werfREm q. &0 TaEwH
F.  TE.TE. HOrSAr B, IYCaHTH HieT
(1) 9,8, 3 2 & 9,%, A
3 %,8,8 % 4) §,%,3, A
Arrange in appropriate order (Chief Justices of India) :
a. P.Sathasivam b. K.G. Balkrishnan
c. S.H. Kapadia d. Altamas Kabir
(1) b,d,c,a (2) d,b,c,a
(3) e¢,bd,a 4) b,c,d,a
TR PG RN | SPACE FOR ROUGH WORK P.T.0.
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1. Wy Pwem sy afir
FRIFAEE U T’ TEU e .
(1wl dgoet 3 UgE s (2) afan fast @ arEen Jgame
(3) o g @ &, fag (4) #h ®W9 T 9EA1 ST
Election Commission of India has announced __ and as the
‘National Icons’ to help promote voter participation in India.
(1) Sachin Tendulkar and Rahul Dravid (2) Sania Mirza and Saina Nehwal
(3) Saina Nehwal and P. Sindhu 4) Mary Kom and Saina Nehwal

5. g 2F Fumide s d g 7
3. BN AW qEeH A= g, A wEwyy faceht e smond wg@eht wEen

i
4. 3. wEueE alsen e siwushTdier edt ol uFiel wdien S
(1) az o 97 3R (2) Hhad 9IT AR
(3) 194 dm T (4) # 99 I g

Which of the following two statements is correct ?

a. Dr. Atmaram Tarkhadkar’s daughter, Annapurna was the first lady from
Maharashtra to go for foreign education.

b.  Dr. Rakhmabai was the first woman to go “o USA for a medical degree.

(1) Only a is correct (2) Only b is correct

(3) Neither a nor b is correct {4) Both a and b are correct

6. et o foremoa =1
. WRAE 1652 WY Tad SHhl 33 WIWT 3T TEd i 591 T am@mne Afvs d

HioaTd 318 WA .

¥, 2003 WX 92T WAGERIGR TR WINIEl TeAGeTAl 8] NN THIER HoA
AT

Ferdhr S/ faum/A st 3md ?

(1) %ad A (2) ®Fad

(3) HAamfiw (4) Fnh! A

Consider the following statements :

a. India is believed to have 1652 mother touriges of which 33 are spoken by people
numbering over a lakh.

b. In 2003, four languages were added to the 8™ schedule of the Constitution by
the 92" amendment ?

Which of the statements given above is/are correct ?

(1) onlya (2) onlyb

{3) aandb (4) None of the above

FoeT HETATS! SR | SPACE FOR ROUGH WORK
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7. U 9F fqummid wiv I g ?
. WERIEreA] YITeiiehs STEUAT Tl Y Iihgd SRvIhS SHUI, IcEd, JaTun,
qifesft amfur rett smaT 3R,
9. WIGH 9 HIG ICFTE TaIS1 FEcaTed IITEN A
(1) s A qg AR (2) Hde I IR
(8) 9« I IR (4) 99 I T
Which of the following two statements is correct ?
a. From North to South the major westward flowing rivers of Maharashfra are
Dhamanganga, Ulhas, Vaitarna, Vashisthi, Savitri and Karli.
b. Bhatsa and Kalu are the important tributaries of Ulhas river.
(1) Only a is correct (2} Only b is correct
(3) Both a and b are correct (4) Neither a nor b is correct
8.  Hifgmen Aee wehr fiemen s offera v = Hivren e i sEe ?
(1) & (2) el
(3) o 4) ¥
To which country does the winner of the 2013 Nobel Prize for Literature Ms. Alice
Munro belong ?
(1) Canada (2) Australia
(3) America (4) England
9. o= ufgen afgen vawam Findt amite S a1 Sivren T9HE 95T ' ?
(1) HigRadreg I (2) e SAGhRe® ot
(3) o U (4) Tofs ol
Britain’s First Woman Prime Minister Ms. Margaret Thatcher belonged to which
political party ?
(1) Conservative Party (2) Liberal Democratic Party
(3) Labour Party (4) Republican Party
10. iU A 18 A 70 A7 FARRI ANREHHT HagH HOl Herila 2R 7
H. FSfe ¥ U®
%,  wifeE R T
(1) SF A, 9,8 (2) BRI A, H, S
(3) w9, H, T (4) I H, 9, F
In which countries is it compulsory for citizens between the age of 18 to 70 years to
vote ?
a. Argentina b. Peru
¢. Brazil d. Canada
(1) onlya,b,d (2) onlya,c,d
(3) onlyb,c,d (4) onlya,b, e
Heed] BRI} SiFT / SPACE FOR ROUGH WORK P.T.O.
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11. NN 200 = (1, 2, 39 200) Thel A& HEIEE] Tl TEa=t e
s TETE AN ?

(1) 491 (2) 492
(3) 493 (4) 494

How many times shall the keys of a computer have to be pressed in order to write
first 200 counting numbers once i.e. 1, 2, 3 to 200 ?

(1) 491 (2) 492
(3) 493 (4) 494

12. w1 Rraren arfl SR e ¥a ?

4 2 6 3

2 | P Rl 1

2 9 T 5

3 3 2 2
(1) R (2) F
3 U 4 H

Which alphabet will replace the question mark ?

Z 2 6 3

9 | P R| 1

2 9 T 5

3 3 2 2
(1) R (2) F
@) U (4) H
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13.  smharEt wive e sm. ;mﬁiwwmﬁﬁaa@mﬁmwhﬁa@
16, 45, 40 24, 60, 40
(3) 15, 30, 45 (4) 24, 45, 90
A series of figures is given. Select the correct alternative for next coming figure.
(1) 16,45,40 24, 60, 40
(3} 15,30,45 (4) 24, 45, 90
14, TRW 7 SEUH ST Hiv] ?
#. 83 9. 73 %. 46 g 38
(1 73 (2 83
3y 38 (4) 46
Which number does not belong to the group ?
a. 83 b. 73 c. 46 d. 38
(1) 73 (2) 83
(3) 38 (4) 46
15. W56+ T =8 17x5=22;19+ 7 =12 30 9 — 6 = 54, T Yrer vl TFma Foredt 7
121+ 11x(891 + 11D+ 9 -3
(1) 2783 (2) 2785
(3) 139 (4) 137
If56 + 7=8;17x5=22;19+ 7=12 and 9 - 6 = 54, then what will be the value of
121 +11x(891+11)+9-37
(1) 2783 (2) 2785
(3) 139 (4) 137
FreedT HHTAIS! STRT / SPACE FOR ROUGH WORK P.T.O.

wrenss StudentBounty.com



http://www.studentbounty.com/
http://studentbounty.com/

M04 8

16. TEEE forgM (?) RIS 98 Tl Uk ERETg Wifve ol oR. R dedel
i U SR, T A

AGMSY; CIOUA; ERQWC; (7); IOUAG; KQWCI
(1) GMSYE (2} FLRXD
(3) GLMXE {4) GMSEY

There is a letter group series with one terrr. missing as shown by (7). This term is
given as one of the alternatives. Find this term.

AGMSY; CIOUA; EKQWGC; (7); IOUAG; KQWCI
(1) GMSYE (22 FLRXD

(3) GLMXE (4, GMSEY

17. g oW fourmdd siod 3 ong ?
¥, @, afecht, amorsht g werEE e o wrdreAn SoTd R,
g, Tod, TA9I, eSS & IR et A1 AT SErsn Yedt s,

(1) e 3 M JR (2) hae 999 IR
(3) T« I T I (4) 993G A A

Which of the following two statements is correct ?

a.  Laxmi, Savitri, Varanashi are the varieties rice grown in Maharashtra.

b. Ratna, Raibhog, Kalimucha are the varieties of cotton grown in Maharashtra.
(1) Only a is correct (2) Only b is correct

(3} Both a and b are correct (¢} Neither a nor b is correct

18. U Ui YIS dMIc 5 Behe Y2 WId. S I 58IIS GG Tweal 9:00 IR s e,
W d H5AIE AHW T PN=A WA THhiadl ©:00 JIaT Hivid| des qrgad ?
(1) 9arm 10 R (2 10arg 12 faf
(3) 8aE 8fafwe (4) 99 7R
A clock proceeds 5 seconds ahead every hour. If the clock is set correctly on Monday

morning at 9:00 am, then what time will the watch display on the immediate coming
Saturday at 9:00 am ?

(1) 9 Hr. 10 min, ‘ (2) 10 Hr. 12 min.
(3) 8 Hr. 8 min. (49 9Hr.7 min.
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19. Widiel AITEE1 3 .
TD54AB1%K $4EJF3+2HI@LE6QUOIMTEW

97 STEEIIe ST YRR @iefter w39 9, fafire s anm o/ o% aest o1, @

BT S,

a. K41 b. «HF c. #B5
d. MS8o© e. LQI

(1) e (2) d
3) ¢ (4) b
Study the system.

TD5#AB1%K$4EJF3x2HICLEQUOIMTEW

On the basis of position in the above system, the four out of following five are the
same in some way and one is different. Find the different one.

a. K41 b. «HF c. #Bh
d M3®© e. LQI

(1) e 2 d
3 ¢ - 4) b

20. IS 31eR wE fore otRe. wni U, fafire yR sqnE Avet SR, A St SeEg W,

a. LSNVE b. BOQUR c. QBEFK
d. HNLIV e. FWGHZ

(L b (2) <

3 d 4) e

There are five groups of letters. One of these groups is different from the rest in
some way. Find the one which is different.

a. LSNVE b. BOQUR ¢. QBEFK
d. HNLIV e. FWGHZ
(1) b (2) ¢
@3 d 4) e
FeeqT BETHIS! TR / SPACE FOR ROUGH WORK P.T.O.
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21. TENI TSRS yeattet Feiht il oo 8 st g ?

(1) 65% (2) 69% (3) 75% (4)
What percentage of area is covered by east flowing rivers in Maharashtra ?
(1) 65% (2) 69% (3) 75% (4) 81%

22. Rl vdag 3T I3 qEehs 1450 foRHt argn e ST SyERRIeT @iefia 9 v
T fired 2
(1) o (2) g (3) Fwm (4) = TR TR

Which of the following rivers originating from Brahmagiri mountain flows 1450 km
towards east and joins the Bay of Bengal ?

(1) Tapi (2} Narmada (3) Krishna (4) None of the above
23,  Sgd AW
A TR I Tife
B. & II. SR
c. feaeh I 43
D. TR Iv. wefateh
A B C D
(1 I Im I v

(20 HI I IV 11
3 1 v m 1
4 Iv I I II1

Match the following :
Hills District
A, Gaha I Gondia
B. Darkesa II. Nagpur
C. Chiroli IIl. Dhule
D. Garmasur IV. Gadchiroli

A B ¢cC D
1 I Im H 1A%
(2) 1III I v I
3) I v or I
4 IV II I JHI |

FTEgT HHRAE! SR / SPACE FOR ROUGH WORK

wrenss StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

A 11
24. WA A HEANE TSI R Ricgare 9 qrae 3.
QT 461 PO 5 SrEihey Sl AT TR ?

33

(1) ¥aqures, 31, IO, JEHAR

(2) 3, TN, JIAHTS, HFAGTH
(3) TEUGTN, YU, TFANIS, ST

(4) 3T, AEAGTR, FaaqTs, o

In the following diagram maps of four districts in Maharashtra are shown.

Which of the following sequences from left to right is correct ?

@

(1) Yavaimal, Thane, Pune, Ahmadnagar
(2) Thane, Pune, Yavatmal, Ahmadnagar
(3) Ahmadnagar, Pune, Yavatmal, Thane

(4) Thane, Ahmadnagar, Yavatmal Pune

FEELT HETATS! STATT / SPACE FOR ROUGH WORK P.T.0.
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25. HAWIGA Sieimge @ieia 3R s fegam steasdr ?
(1) ImaEdt - 3 (2) IS ~ AR
(3) WSHI - ST (4) TR - TGS
In which of the following districts of Maharashtra Dolomite is found ?
(1) Amravati — Akola (2) Yavatmal — Ratnagiri
(3) Bhandara — Jalgaon (4) Nagpur — Nanded
26, YU Hivier gawEran Mg g $ gt T9y gt ?
(1) wmR (2)
(3) uwdhg (4) FHRA
Which of the following newspapers is not associated with Govind Vitthal Kunte ?
(1) Prabhakar (2) Jnanoday
{3) Dhumketu (4) Jnanadarshan
27. fau. ﬁﬁwmﬁwwmmﬁvﬁ_ Bl L1
Steprolt sreqeiem wYE g9 Tfeeara Seer.
(1) T, sEmeTrR
(2) deel, 4as
(3) TSB!, HICEG
(4) S, q7E

V.R. Shinde decided to work for the upliftment of the untouchables after attending a
meeting of the untouchables at in

{1) Bhingar, Ahmadnagar
(2) Wadala, Mumbai

(3) - Panhala, Kolhapur
(4) Chembur, Mumbai

FoelT FITATS! ST / SPACE FOR ROUGH WORK
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28,  “1857 < WM Wa=gg Towd” B It TEeH IR,
(1) TA.AN. $eH (2) .70, qftEt
(3) i, dnEe (4) AR ITE

“The event of 1857 was not a war of Independence” said

(1) N.R. Phatak (2) K.M. Panikkar
(3) Dr. Tarachand (4) Jawaharlal Nehru
29, faeardier Wy wewET T @ few @ FR A FEieEl sl
AT @ ST ATE AN 8 HHG ed! ST el
(1) e (2) 9
(3) uw§ @ g

University honoured Shahu Maharaj by conferring on him Life
Membership and the honorary degree of Doctor of Laws for his work in the field of
Agriculture and Education.

(1) Columbia (2) Cambridge
(3) Mumbai (4) Pune

30. @l Y Fivid saFf/HTEn a TERT T YT Seadil ueita Tegdl Tager ?

H. .. Ash 9. wsh
&, foews foma €. TI.UH dnge
(1) = s (2) wafrs
(8) &K H (4) wad €
Who from amongst the following did no¢ belong to the underground movement in
Maharashtra ?
a. S.M. Joshi b.  N.G. Gore
¢.  Shirubhau Limaye d. N.M. Lokhande
(1) aandc (2) bandd
(3) onlyc (4) onlyd
FoedT HITATS! SIATT / SPACE FOR ROUGH WORK ; P.T.O.
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31. dfaum a9=m Igued gamed STeAg Fivregr YT Afiest BN ST el Bid 7
H  HYH TST IWEH
¥ .UH.TH.IW.
% N yoEae

T HfRaas T
(1) #,9,8 (20 A, %, S
(3) #,8, % 4 ¥,%,%

The messages of goodwill of which countries were read by Chairman at the
Inaugural session of the Constituent Assembly ?

a. United States of America

b. USSR

¢.  Republic of China

d. Government of Australia

(1) a,b,d (2) a,ecd

(3) a,b,c (40 b,c,d

32. G faum e =
F. 1983 e TWHRA e =T GEHHESHI AN TH, GHRIIAT Jr=aT ALHIGT] TR 9.
q. 2007 FEY g IR . Hed WiEd U qrAT STeHdElel] the-Usd HeurEl HeE

AT ST AT,
et wiva/dt fFum/A st m/a ?
(1) e A (2) wad ™
(3) Famura (4) Ih} ATt

Consider the following statements :

a. Under the chairmanship of R.S. Sarkaria, a Commission was appointed by the
central government for center-state relations in 1983.

b. In 2007 central government appointed a Commission under the chairmanship
of Justice Madan Mohan Panchi to review the center-state relations.

Which of the statements given above is/are correct ?
(1) onlya (2) onlyb
(3) aandb {(4) None of the above

o HTHTAIG! WA / SPACE FOR ROUGH WORK
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33.  Sigdl ol (ATige qed)

FH ‘q’
A, T SERE L 3795 41
B. @HE A dfgar II. 37<ag 44
C. W o AR TH1. 1I=3T 48
D. T g siowy IV, 31g=ag 40

A B C D
1 IV II 111 I
2y Iv I I I11
3 1Iv 11 I I
4 1 I 111 v
Match the pairs (The Directive Principles) :

‘A’ ‘B’

A. Village Panchayat 1. Article4l
B. Uniform Civil Code II.  Article 44
C. Right to Work III. Article 48
D. Prohibition of Slaughter of Cows IV. Article 40

A B C D
(1 1V II I1I |
2y IV | II III
(3) 1V I I 51
(4) I If I v

34. T e e
A, WRATEA FEMEE & w0 9. gdae Gudie e S

. et vatawm= W o . YT G 50
(1) #,8, &, 9 (2) © H, b, 9
@) &9 HA® 4) 3, ¥H,9F

Select appropriate order :

a. To protect sovereignty of India b. To safeguard public property
c. To protect natural environment d. To respect the constitution
(1) ad,cb (2) d,acb
3) d,b,a,c (4) d,a,b,c
FreedT HTHATS! ST / SPACE FOR ROUGH WORK P.T.O.
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35. g @ (Gfum gee afenr 3 e eny)
‘37’ @’
A w9 s afid I S Faart
B. i@ 3 wre afih I =4, gasf
C. FeqEEamE IqaiHdt 1. TS 5616
D. Toqq A suafirdt IV, e 15
A B C D
(1) I v I {11
2y 1 11 m v
3 Iv 1III I I
@ v II ITI I
Match the pairs (Committees of Constituent Assembly and its Chairman) :
‘A’ ‘B’
A.  Union Powers Committee I.  J.B. Kripalani
B. Finance and Staff Committee II. H.C. Mukherjee
C. Minorities Sub-committee II. Rajendra Prasad
D. Fundamental Rights Sub-committee = IV. Jawaharlal Nehru
A B C D
(1 I v In I1I
@ 1 II I v
3 Iv 1 II I
4y IV 1 III I
86, U YOG FEreAl SHeEwEviEdl W (writs) Wi oA aftmr . fe@w
JTET.

(1) dar=d AATHE Heq 32 a3

(2) FoH AWREE Hed 226 3=

(3) oY M HoM 32 Y N Ie9 I He 226 TGy ™ ST
(4) FIUAd =ETern fhar fteRTE

The power of issuing writs for enforcement o7 the Fundamental Rights is given by
the Constitution tothe .
(1) Supreme Court under Article 32 only

(2) High Court under Article 226 only

(3) Both Supreme Court under Article 32 and High Courts under Article 226
{(4) Any court or tribunal

Froed] HIATATS! T | SPACE FOR ROUGH WORK
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37. WY GEOST sqoen TiehitdT AT 3 Wiefiel Jehl <hiviar iR ?
(1) == favem |
(2) wafotda AwEl
(3) ~amreEiA @
(4) g Frehgia

Which of the following was the object of India to accept the federal system ?
(1) Separation of Powers

(2) Partyless Democracy

(3) Independence of Judiciary

(4) Democratic decentralization

38. TSNS WO AT A TR TEvaTTEl WiEle qeara SR hell MR
A, ThHE A
. e A 3 Biegd s guea
%, GER Afga Trd da
(1) =,% (2) A#A,9
3 9% 4) =hawd

The Constitution adopts the following means to maintain administrative and
legislative unity :

a. A Single Judiciary
b.  Uniformity in fundamental laws, civil and criminal

c. Common all India services

(1) a,c (2) a,b
(3) B, c (4) All of the above
FeEq] ETETAIS! SR / SPACE FOR ROUGH WORK P.T.O.
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39.

18
Wi Tz Bt Teavrerh e Tga wioen 2ok @wnel 1R 2

-

(1) &
(2)  sArRfemn
3) g
(4) SR TRdl e

The system of appointing a Governor by the Fresident in India has been adopted
from which country ? '

(1) Canada
(2) Australia
(3) U.S.A

(4) None of the above

40.

TRATAE WEER WMETTgH! Bewia WTefier 991 v e ste o ?
3. T B HESH ARSI 3T SR,

¥, a vawae A e Heed gat Wt FEdt .

F.  Ueeudrdl well wEwtd wft anaen YeRR Uy weEd.

8. wfivees Tegudin sqeiiTa e Jeeen 3TEd.

(1) 3,9 % 2 9,%,8

3 A+ 3 (4) #,9,%

Which of the following statements with regard to the parliamentary system in India
are correct ?

a. The President is an integral part of the perliament.

b. He appoints the Prime Minister and on his advice the other Ministers.

¢.  The Ministers hold office during the pleasufe of the President.

d. The Council of Ministers is individually responsible to the President.

(1) a,b,c (2) b,c,d

(3) a,¢d {4) a,b,d
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41, wifEh arfier arfufeem, 2005, &1 @ MR frar o after TgM <@t : (o Fast)
(1) 7eng AR (F.R.)
(2) Wi @f AR
(3) wIEER &I UG (Pure) ¥ TWH (Simple) AR
(4) “quar =1 ARFAR” IR TET FAOTRT HTEET

The Right to Information Act, 2005 is and/or confers . (select one)
(1) Fundamental Rights

(2) Common Law Rights

{3) Statutory Rights Pure and Simple

(4) The Act to protect Right to Privacy

42, ¥ TE.IR. WHEA Vs, W A6 FEMES WeW (1964) W, S “‘SHm FW TEHR
M@t I, e o &g o ? (v fae)

(1) uifd= wqer 7=

(2) W AR 7%

(3) miehat (Non-citizens) 8%

(4) @RS (Prisoners) & ‘

The National H.R. Commission Vs. State of Arunachal Pradesh (1964), case, also
known as “chakma case”, deals with . (select one)

(1) Rights of Religious Groups
(2) Rights of Indian Citizens
(3) Rights of Non-Citizens

(4) Rights of Prisoners
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43. wat= AeEE “mfgd siren” ar o wiftmen (Interpreted) @ s/ Feemr femm (
at iR Al sufas enlisame amifase ame. ¥ snfdaa v 2 (T fae)
(1) onfEsa 19
(2) onfésst 19(2)
(3) anfdwar 19(1)(3)
(4) snféwa 19(1)()

The SC interpreted the Right to Information and held that it is enshrined in the

Constitution under . (select one)

(1) Article 19
(2) Article 19(2)
(3) Article 19(1)(a)
(4)  Article 19(1)g)

4, “afxder aRER @Y wEed @ ardeE o Fuaed swden  wwiR
HEUTT-AAfPR § Al sreat (nféwd) 21 (Thdle) wed wfas oeqd.” & free
T ETEAE Giefier Qe v shawed e ang ? (T fraen)

(1) w9, Tar 4. 2.30.319., U.3mg, I, 198219, W, 149.

) foe o wi §Ew, THEE s e fed uiferht &L g.eiem,
S, 2007(11) g . 49,

3) fueg gfem e e faeds (Radoa) @& 7o, vemgsm, 2003
H.H1. 2363

(4) R.3i.eT. fo. smifimym AfE SuieRs fwiny, €., 2002 g 1. 2112.

“The Right to Information and Community Participation for protection of

Environmental and Human Health is also a Right which flows from Art. 21 of the

Constitution.” In which one of the following cases the SC has held the afore-said
principle ?

(1) S8.P. Gupta Vs. U.0.I1, AIR 1982 SC 149.

(2) Research Foundation for Science, Technology and Natural Resource Policy Vs.
U.0.1, JT 2007 (11) SC 49.

{3) People’s Union of Civil Libertics (PUCL) Vs, U.O.1. AIR 2003 SC 2363.
{4) U.0.I Vs. Association of Democratic Reforms, AIR 2002 SC 2112,
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45.

21

Tiefld U #e T el gEE AEeEe Cafedt eifter” wr e
(Interpreted) ¥ reiRad sam (Highlighted) ? (& Faern)

(1) ooy gfam o1t fafse femdia anfor srcd
Vs.
.30, 971,
(2) Y& i Tde Vs, TegHtie ATE qes, 2007
(8) . Ifag FAR Wi Vs, fw fRfoema wimm, 3.00.9m, ofs orcd
(4) QTR FHTBATE V. GRET FHIE AT, T.3TRL TR, 2006, T,

For the first time, the SC interpreted and highlighted the meaning of Right to
Information in the case of . (select one)

(1) People’s union of Civil Liberties and Ors.
Vs,
U.0.L

(2) Surup Singh Naik Vs. Govt. of Maharashtra, 2007
(3> Dr. Arvind Kumar Sharma Vs. Chief Vigilance Commission, U.O.I. and Ors.
(4) Vaishali Kacchavah Vs. Dwarka Prasad Jaiswal, AIR, 2006, M.P.

46.

Jaifie o W SaEX fa e o A A g IW ITEdl. 1 W @it 3R S
TEUIATd ?

(1) It (Reference) (2) 37T (Anchor)

(8) URL (4) TERTH

A word in a webpage that, when clicked opens another document. That word is
called as

(1> Reference (2) Anchor
(3) URL ‘ (4) Hyperhnk

417.

FSH I (command) HTEF ASITH TSI AT AT ITRATT 7
(1) <red (2)  Sgli-aurE
3y fm (4) faepam

Which command is used to check the network connectivity with computer ?
(1) Connect (2) Check-connection

(3) Ping (4) Pick-up
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48,  www.mpsconline.gov.in ¥ I IGEW TR ?
(1) e (2) I
(3) URL (4) HTML
www.mpsconline.gov.in is an example of
(1) Internet (2) Webpage
(3) URL (4) HTML

49, ‘TR FRR I T H A ?
(1) Reew (2) &M (Hertz)
(3) W (Micron) (4) fiz@ W dhg (bits per second)

‘Data Communication Rate’ is measured in
(1) Decibels {(2) Hertz
(3) Micron (4) Bits per second

50. wrchim Yt v G G AT (virus) S @0 AR ?
. BRI Wod UghERe faE8iel (Microsoft Window System) 391 Wig=ddl.
¥ oFTE 9ol fRaT a1y YERUIAT (read only) WTE el
%. TEEE SFa (s fhar 50w arha geRal.

T, AT BIESASR @1 I diggad 1.
(1) 31anfors (2) & anfor =
(3) FAME (4) A AMSE

Which option is true about computer-virus ?

a. Virus can infect only Microsoft Window System.
b.  Virus can modify “hidden” or “read only” file.

c.  Virus spreads only on disk or e-mail.

d.  Virus cannot infect Hardware.

(1) aandb (2) bandc
(3) bandd (4) aandd
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51. d3n@d §Ues (Wearable Computer) 3GT&ol 3118
(1) =9em
(2) TR

(3) BUR greardt
(4) 09 ud g3ig

Example of Wearable Computer is
(1) Laptop

(2) Google-Glass

{3) Smart phone

(4) All the above options

52. fawa wEeEn v e

(1) st (2 JfIHR,
(3) f.om. s, (4) =&
Find the odd-man out :

(1) Bitmap (2) JPEG
3) GIF (4} DOC

53.  JATEAIRA I9H RN
(1) = Igor Hifigen e
(2) 3 IR HFRYE A oM
(3) SPREC THE ST ITHT
(4) FIYS-3M3ICYLE ITHI
An Offline Device means
(1) adevice which is not connected to CPU
{2) a device which is connected to CPU
(3) a direct access storage device

(4) an Input-Output device
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54. WRA HRA e ST Covieeyl @a9H faver 9 Thed & sheledl 3 T
3Tl IR, BT Wehed hivredr ITIWANT S Il 2
(1) RmETe
(2) TR
(3) SFTOTET TR I=Ew

(@) Tafougma gacran sPvaTEn wR/ SEwE0

The Government of India’s Information and Communication Technology (ICT) Dept.
has started number of projects out of which one project is eDhanwanthari. This
project comes under which application area of ITC ? |
(1) Healthcare

{2) Education

(3) Livelihood enhancement

(4> Empowerment of the differently abled

55. _ e e @ g 4 we
(1) ghe wfim (2) o wifeam
(3) ¢ IMTH (4) e wwd T
_ refers to sending e-mail to thousands and thousands of users.
(1) e-mail spamming (2) e-mail bombing
(3) Trajan Attack (4) None of the above

56. I Hiv faum g ong ?
(1) 2R e gde gagem 1977 He Hug 3.
(2) THfed HHATETed HIgH! Fehefta AT 81 e gl
(3) TN g HueAren fawmeEea (Ted @ auivews) wefis AEkt 9a de
HeAl Wi,
(4) T, foeRk 9 qaa onfde TEAw 1980, 1990 2005 WEAl HUI .

Which of the following statements is incorrect ?

(1) A countrywide Economic Census for the first time was conducted in 1977.

(2) It was an attempt to collect information from unorganised establishments.

(3) The basic information relating to the distribution of agricultural
establishments including the ownership is collected in such a census.

(4) The second, third and fifth Economic Census were conducted in 1980, 1990 and
2005. '
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57. WG S GFaiie dETd] . nEerEEe wihne feemrea e ?

(1) 1t TeETivs Fia= (2) 28 gEars e

(3) 4+ JEaTfies Tt (4) 53t g=EnidE qromn

For which Five Year Plan of India Prof. Mahalnobis Model was adopted ?
(1) 1° Five Year Plan 2) 2% Five Year Plan

3) 4™ Five Year Plan 4) 5% Five Year Plan

58. @reid ¥h HvET T 1966 @ 1969 UM WA A1 e @iEe gvaw semEer
B ?
(1) -7 g3 (2) YRd-wTfeRee e
(3)  onifdles o (4) TRy AT

Which of the following factors was responsible for a break in economic planning
between 1966 to 1969, in India ?

(1) Sino-Indian war (2} Indo-Pakistan conflict

(3} Economic depression (4) Political instability

59. @cfid ¥H FHiveEn gewmEn duweid b Frsamar semed gaey w@ar 3% w9

"
(1) wFqurar (2) I et
(3) W FEEm (4) e o

Which one of the following factors cannot be considered as the long-term objective of
econormic planning ?

(1) Self-reliance (2)  Removal of unemployment
(3) Control of inflation (4) Economic growth

60. oA SN WAHER Tae dearie A @rclia 6 S v R ggEre aa
Higd w1 ?
(1) e = I swdeg fawm
(2) THIRSF = 37 ARegiug fwhm
(3) WIS A/ 110 Temoase fawra
(4) amIiE =m iy snfde Tameas fawm
According to the Planning Commission the focus of Ninth Five Year Plan was
described as
(1) Growth with social justice and equality
(2}  Growth with social justice and equity
(3) Growth with social justice and employment
(4) Growth with social justice and economic equality
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8l.  74ef weAgEl @Rl {q WA TR AR
a.  freg Frea wfid camm o,
§, T S TG
¥, U EER ST T .
el wivr T/ st sn/eme 2
(1) %4 3 (2) aq 37 anfer &
(3) a7 anfor = (4) 21, 9 3nfo =
741 Constitutional Amendment Act is enacted with a view to
a. constitute a District Planning Committee.
b.  constitute Gram Panchayats.
¢.  constitute State Finance Commission,
Which of the statements given above is/are correct ?
(1) onlya (2) onlyaandb
(3) onlyaandc (4) a,bandc

62. YRS Fraem rdTre e devta @redlia faun faam wn.

3. 2UdE IuTed ST TROTHERE T wHdter augatt S Ara
g, ifokargd, wisge anf wEd ane 3 Ar gegETe .
&. HeIgdl gleHrel AnleE o

Titertsh v Tam/fam st sr/ema ?
(1) e (2) Sag ¥ T §
(3) had € IV & (4) , 9w

In connection with functions of the Indian Planning Commission, consider the
following :

a. To formulate a plan for the most effective and balanced utilization of country’s
resources.

b. To make assessment of material, capital and human resources of the country.
c¢.  To guide the central government.

Which of the above statements is/are correct ?

(1) onlva (2) onlyaandb

(3) onlybandc (4) a,bandc
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63, T TG HATAT ULHIGH! P HehHT ATCHIh! ATeEH AT FEET JTH Bl |
(1) ehgiEe sverd ol famh () dmme St
(3) HfiER e (4) oficr od
From amongst the following who are eligible for assistance under the Valmiki
Ambedkar Awaas Yojana ?
(1)  Slum dwellers below poverty line  (2) Marginal farmers
(3) Landless labourers (4 All the above
64, TEEH YuEING Tede TR i Te Ui Sane TN sk e 36 wivd 2 ?
(1) 9-00% (2) 800% (3 10-00% (4) 07-00%
What was the targeted GDP growth rate of the 10*" Five Year Plan ?
(1) 9-:00% (2) 8-00% (3) 10-00% 4) 07-00%
65. 2009 - 10 T JgerRt wftei=a g WO wrefia S ot 25 o aiige TEmd 8 ?
(1) 3508 - 29-8% (2) 400 FTE - 30-1%
(3) 300TIAH - 27-3% (4) 450 TIAHF — 34-2%
What percentage of the population was below the poverty line according to the
Tendulkar Committee poverty line in 2009 — 10 ?
(1) 350 millions - 29-8% (2) 400 millions — 30-1%
(3) 300 millions - 27-3% (4) 450 millions — 34-2%
66. wdwie gedier i ffifdha @reiter Yk wivrear yewre=an dis ffifdten T geifus g 2
S q.  Hifves faga
F. IOE T e I
(1) A (2) ®F S (3) A frs (4) ¥, AT E
Which of the following has the major contribution in power generation in public
sector ? '
a. Hydro-electric power b.  Thermal power
c.  Atomic energy d. Wind energy ,
(1) onlya (2) onlyb (3) aandb (4) a,bandd
67.  WRaAr=A 2010-11= e FoRavIaR {6 WOThihd FaTe] STREVISHEET ESCR)
ferarmeft Suetsy g,
(1) 2,222 (2) 2,400 (3) 5,000 (4) 5,600
As per the Economic Survey of India 2010-11, Railway computerised passenger
reservation system is available at locations.
(1) 2,222 (2) 2,400 (3) 5,000 (4) 5,600
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68.

28
I T ARG qrearedT giaden wm it fUek onftr 3’ 41 fawaer ww
el HIFIEIS! TATIT HI0IT T,
(1) . ., w@HRa (2) @i g, fawame
(3) . .. siaeeis (4) . ). fam
A sub-committee on ‘more crop and income per drop of water’ was constituted by the
Ministry of Water Resources under the chairmanship of
(1) Dr. M.S. Swaminathan (2) Dr.S. Vishwamohan
{3) Dr. P.C. Alexander (4) Dr. P. Chidambaram

69.

gaﬁ'i 2 R Fr e o 2
e W Td ARSI ST 1950 we heft At 9 yAuT 1970 7 W,

¥, T e deArhl gfeaehd — waam - a1 §d wdeomen e @ feeen
e,

(1) a5 I 9 3} (2) Fdes ST 13

(3) 994 A TE (4) 199 = 0T e

Which of the following two statements is correct ?

a. National Sample Survey Organisation was set up in 1950 and reorganised in
1970.

b. Summary of the results of the surveys undertaken are published in
Sarvekshana — annual technical journal of the NSSO.

(1) Only ais correct (2) Only b is correct

(3) Neither a nor b is correct (4) Both a and b are correct

70.

WG THRA 1995 ) UEH TN FHUE YEi dehl FHiver Jex- GUren e ?

¥, Taren fasmmad gt St arer aefa,

F. & fopmr SEEe Usw weRwe <.

3. S0d e

(1) & A (2) FgAMF (3 TadFANMUE (4) I, gamfne

With what purpose, did the Government of India made amendments in the National
High-way Act in 1995 ?

a. 'To attract the private sector in the developiment of roads.

b.  To increase share of public sector in the development of roads.

e. To hand over the responsibility of the development of roads to the State

Government.
d. All the above
(1) Onlya (2) a,bandc (3) Onlyaandb (4) a,bandd
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71,  weacdl anfu wirevrws =M T SR, (WA, FE) 1969 BT
G ATl ?
(1) oot H/g (2) uh.R.H . HrEr
(3) wmiigr) SR (4) Sierehr AT
The Monopolies and Restrictive Trade Practices Act, [MRTP Act] 1969 was replaced
by
(1) Competition Act (2) FRBM Act
(3) Partnership Act (4) None of the above
72. Qe di faumEn fem . Srie SR a2
. wRaE AEH. I 2000 - 1054 8-4% wEd 2011 — 129 6:9% WHAl § gUWA
IFEIER 6-5% Tl FHl Tl .
q. F1 2011 - 1290 I Qe w7 L2 d. wwofta g o e,
%, wRATS fFaide wemde aemht ven e @ S f). el e .
(1) % 3 (2) FATH (3) ¥a® 4) FA,99F
Consider the following three statements. Which of these is/are correct ?
a. Indias GDP growth has come down from 84% in 2009-10 to 69% in
2011 - 12, and 6-5% as per raised estimates.
b.  The secondary reason for moderation in GDP growth is weakening of industrial
growthin 2011 - 12, _
¢.  The effect of retrenchment in overseas demand on Indias exports is the prime
reason.
(1) Onlya (2) aande (3) bandc (4) a,bandc
73. B9 20101149 2011 - 12 HIS@ YR A= v 7@ & 9= 9gE T8 i ?
(1) 3@ T, =, J T3, fmg, i
(2) S, UE Y, Y TS, Ry, ghrwm
(8) 3T3, JTE T, AR, Ry, g
(4) FE T, U, AR, g, g
Which were the top five countries of India’s export one after the other during of
2010 -11t0 2011 -127
(1) USA, China, UAE, Singapore, Hong Kong
{2} China, USA, UAE, Singapore, Hong Kong
(3) UAE, USA, China, Singapore, Hong Kong
(4) USA, UAE, China, Hong Kong, Singapore
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74. T2 faamite s e o ?
TEIT SR YN AT Fle  SUeRiedT I Heutd WAl sdemadl T
AR I Tawra fashraret HWi wuft wdeh 2

W, SR quEiNE Qe SSA T,
(1) e 31 3= (2) *ha® & WY
(3) # 9T A g TE (4) 3199 A7 IR RS

Which one of the following statements is incorrect ?

Relative to the targets set in the first ten Five Year Plans, the growth performance
of the Indian economy in terms of GDP

was the poorest in the Third Five Year Plan.
b.  was the best in the Tenth Five Year Plan.
(1) Only ais incorrect (2) Only bis incorrect

(3} Neither a nor b is incorrect (4) Both a and b are incorrect

75. YA oF faumiden! v SR T ?
. TANNE THEASH B IRy sTeeRt Rragdt oo 3= fheear $@s 9

fEa TBlae.

7. o TEEIEE NESHN B 1918 HEd cferdien g stenfac — ereysy framor wlvg —
R s arsivd MashdarsiHl Yufae,

(1) e 3 = a1 (2) a9 & I A

(3) 9 IE qrT e (4) AT § S I G

Which one of the following two statements is correct ?

a. Sayajirao Gaikwad gave scholarship to Dr. Babasaheb Ambedkar for his higher
education and sent him to England and USA.

b. Dr. Babasaheb Ambedkar called a conferznce for Dalits in 1918 — as Asprushya
Nivaran Parishad — wherein Sayajirao Gaikwad was the President.

(1) Only ais correct (2) Only b is correct

(3) Neither a nor b is correct (4) Both a and b are correct
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31
ST ST e TG ST IV 23T e A ?
(1) Fefea 2w (2) fawarsha 3w
(3) GHWEME W (4) oS IUEH &N

Which countries took lead in establishing the W.T.O. ?
(1) Developed countries (2) Developing countries

(8) Socialist countries (4) Oil producing countries

1.

A, Afedd St foaw sFaen 1997 Ued gE wwaK ITrel.

¥, Wit g foawr seen § wd o= anftr Shgwnfaw wewmE R,
(1) wad 3 =S R (2) A § SO AR

(3) 31 M § et s 3Tea (4) 21 anfir € S % R

a. Targeted PDS was introduced in 1997.

b. Targeted PDS covers all States and Union Territories.

(1) Only ais correct (2) Only b is correct

(3) Both a and b are correct {4) Both a and b are incorrect

78.

A JA 1991 UY NI T 18 THF FAEIH FHUA .

¥, AT SATNE W HIGUATH Ugd gid.

(1) % A S T3 (2) wEF § T AR

(@) 3 3o & S S N1 @) ¥ I & PR IH AR
a. Indian Rupee was devalued 18 per cent in July 1991.

b.  Devaluation helps correcting trade deficit.

(1) Only ais correct (2) Only b is correct
(3) Both a and b are correct (4) Both a and b are incorrect

79.

GieATAteh! HUAT HR AT SaIH] Hee-=a1 SR 9T 787 7

(1) Rt geftm Sifigs wea sfter

(2) =ATIRRT HETe A SN

(3) ST T YIRS HASTUTET F7

(4) oAU adTawt T FR

Which of the following contracts is not a part of the contract of W.T.0. ?
(1) Trade Related Intellectual Property Rights (TRIPRs)

(2) Trade Related Investment Measures (TRIMs)

(3) General Agreement on Tariffs & Trade (GATT)

(4) General Agreement on Trade & Service (GATS)
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80. 3. fave =R Heeddt ufget wEtafiag famg A9 \wE g
9. Tava =R guerh v ‘e ggu” aitesT afton e s,
(1) o 37 a0 Ay (2) H § TR IR

(3) 31 f 9 & TN RS (4) 3 T & g I R

a. The first Ministerial Conference of the WI'Q was held in Singapore.
b.  WTO was set up as a result of the “Bretton Woods” conference.

(1) Only a is correct (2)  Only b is correct

(3) Both a and b are correct (4) Both a and b are incorrect

81. MU Wigae= TETEEEHI @fier st foem =
H,  HYAHEE gL
¥, SN SeaEeH gl
®.  WrggarEl HHd TROmTERRET
g, I SehaT YU
FUANH! FIT Heoh NPT HigaTAT=A1 FATFIE I ZThaTd ?
1) A, s (2) &, 9afnsg
(3) W&d & 30 g (4) B § 3O %
In the context of international capital movement, consider the following :
a. Rate of interest
b.  Speculation about rate of interest
c.  Marginal efficiency of capital
d. Influence of World Bank
Which of the above can influence the movement of international capital ?
(1) a,bande (2) a,bandd
(3y Onlycandd (4} Onlybandec

82, RETHIMNG W1, AFTdH HIRATA THE TCH JEI Wiefterdeh! hivrar giam ?
(1) fafraymeie Semdie weiirs smmew
(2) WHG-TT USEHE d AT gay
(3) Tt 9 NeF g
(4) WRG-IH SR wEY

Which of the following was the main contentious issue of the World Trade
Organisation after the Doha Round ?

(1) Communal disharmony among people of different nations

(2) Indo-Pak Political and Economic Relations

(3) Agriculture and Industrial Goods

(4) Indo-China Trade Relations
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(1) w9 3 AW 3 (2) N, MUrH
(8) ¥, ® IS (4) waqH M3
In the context of economic globalization, consider the following statements :
a. Economic development of backward countries.
b.  Breaking down national barriers of trade.
c¢. International spread of trade and commerce.
d. Growing power of multi-national companies
Which of the statements given above are correct ?
(1) Onlyaandd (2) a,bandc
(3) b,candd (4) Onlycandd

84, Sl (Balance of Payments) 9t @reftel steft faema =
A, GOH-GhH HIIET Iaae 9. GY & o
F. A g 5. W g
Fdh! HIA A AR (BoP) 0 G FOAAS ITGHR A3 ?
(1) &, 9 M F (2) 8, VS
(3) 3/, FAMg (4) ad A A g
In the context of balance of payments, consider the following :
a. Adopting a policy of deflation b.  Reducing expenditure
c. Import premotion d. Foreign aid
Which of the above can be used as measures to correct disequilibrium in Balance of
Payments ?
(1) a,bandc {2) b,candd
(3) a,bandd (4) Onlyaandb
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T YT aavpEhrea seta @refter foum faeme on
¥, T AU decargs A AdUE el 918 B
%. it qe wehR e TS A
FlathH Fiord faum/fean aer am/engd 2
(1) W ufeet forerm (2) W g faum

(3) e wfger arfr fomy faens (4) hodR SeRd 9@

Regarding foreign direct investment, consider the following statements :

a. Inflow of foreign investment increases unemployment,

b.  Foreign investment constitute a net addition to investible resources.
¢.  Underdeveloped countries don’t require foreign investment.

Which of the statements is/are correct ?

(1) Onlya (2) Onlyb

(3) Onlyaandc {4) None of the above

86.

giefieisht a9 @ g1 Fagd feq s wa

(1) wiedet Wt (2) vEgeh wd
(8) IEHATABT T (4) VA FERRE 3RS Sl

Fill in the blank by selecting the proper alternative from the following :

Fiscal Deficit = Revenue Receipts + ............ - Total expenditure
(1) Capital receipts (2) Revenue expenditure

(3) Budget deficit (4) Government market borrowings

87.

TR Fafiffa guren 2000, Y= snariE srlwwey T R Faen s

(1) ¥ TeA (2) . Hwieg

(3) ex v (4) FOAIH HTAE TE
The Fiscal Innovation 2000, zero base budgeting was designed by
(1} Dr. Dalton (2} Dr. Musgrave

(3) Peter Pyhrr (4> None of the above
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88, hy WIEHTET ATt WAIRRE AN AEAU/digEUT R JR/3TEd.
A HEW
¥,  THSB W
F. AT W
(1) »Fd & (2) I, gamrs (3 IJvs (4) & Mo %

The fastest growing tax for Central Government is/are
a. Service tax

b. Corporate tax

¢. Income tax

(1) onlya (2) a,bandec (3) aandb (4) aandc

89. WIehedshl M df waia Fraga fe s w
12= fam 3w S Hudie ToarT aret 94 dTeae 3R,

(1) 29-57& (2) 3057 (3) 62-57&H (4) 28:07H

Fill in the blank by selecting appropriate alternative from the following :
The 12" Finance Commission raised the share of States in the Central taxes upto

(1) 29-5percent (2) 30-5percent (3) 62-5percent (4) 28-0 per cent

90. g@amhwﬁmﬁwm

a. WK & IS TR aTegaie e AT 3R,

b. fod gam 1853 weA e,

c. HAYUH ATTIS HEE o SV e,

d. AR 43% TRV & oisre fgdieer I R,

e. AR RV 19 AW fawe e IR,

. T93 qH A HETed IR

g Fawm i & geIe IR

Tiet Sive faum s s 2

(1) a 2y d 3) e 4 g

Consider the following statements about the Indian Railways :
The Railways in India provide the principal mode of transportation for freight
and passengers.

b. It made a modest beginning in 1853.
c. The first train steamed off from Mumbai to Thane.
d. About 43% of total track kilometre is electrified.
€.  The network is divided into 19 zones.
f. Mumbai is the headquarters for 2 zones.
g.  Kolkata is the headquarters for 3 zones.
Which one of the above statements is incorrect ?
1 a (2) d 3 e 4) g
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91, TSI FHASTANGUNY HRU Tt
¥, TUEE/ATET @9 a1g
9, 3o gl
C I )
Tt SR IR IR,
(1) FA,Tambis (2 G H (3) 3 3 &% (4) ¥ 3nfrg
The crisis of state public debt is the result of inzrease in
a. Expenses on salaries
b.  High interest rate
¢.  Debt waiver by the States
The correct answer is
(1) a,bandc (2) onlya (3) aandc (4) aandb
92. WAy T @ walg fagd few s 9w
e gemure HBE TS AHIT AEEAeAl GRRAET W qegd: T IR,
(1) vggelt @ (2) uEAAS
(3) W @ (4) e wwE @
Fill in the blank by selecting proper option from the following :
The burden of fiscal imbalance correction during economic reforms has been
primarily on .
(1) Revenue expenditure (2) Public debt
(3) Capital expenditure (4) None of the above
93. T 2009 W3} MU vy afed 5 — 15 29Ee YAl qTeges gl e

w1y fardeTen seidta weleps reoR Mifad s 7
(1) werr, it et (2) wIRIKE, gu%
(3) T, TAATETE, FEG (4) TIER, TG

Which airport has been adjudged as the world’s best airport for the airport service
quality amongst the airports handling 5 — 15 million passengers for the year 2009 by
the Airports Council International ?

(1) Airport, New Delhi (2) Airport, Mumbai
(3) Airport, Shamshabad, Hyderabad (4) Airport, Bangalore
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94, “grEvive gara syFe g Sl g ?

(1) . fuei® g 9. Ao 2 . fay

(3) <. wmid (4) Fhed$ wrid @
“Modern Theory of Public expenditure” was developed by

(1} Prof. Pecock & Prof. Wisemen (2) Prof. Pigue

(3) Dr. Marshall (4) None of the above

95.  herhgd USAAT BV e Soanel Bt ey,
H. TS o g IS a1ed TehATR |
q.  USAN hgat SFHERA AT
. TSEH 7ggH IO FAA qoE

(1) [, FqmsF (2 Jaaue (3) v (4) TR H

The growing transfer of resources from the Centre to the States implies
a. Increasing integration between State and Centre

b. Helpless dependence of States on Centre

¢.  Neglect of States to raise revenue

(1) a,bandc (2) aandb {3) bandc (4) onlyc

96, UG dEHEITS
3, TAIETaTET WY et
T TR FA g HUA A
%, @d e seear s
8. YoTHSIhd REe=] A

(1) safrs (2) HFamry (3) g (4) H,9AMNE

Zero-base budgeting

a,  Starts from previous year

b.  Needs justification of activity

c.  Considers cost control important

d. Focuses on effectiveness

(1) bandd (2) aandb (3) candd (4) a,bandd
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97. Row ¥ aiidy wRdT FT yunet Gurorea Teuid Sivg O gaad o ?
(1) i T=a
(2) ememrefien wrE foRga wor
(3) ITEd L T

(4) Hewatda w= fofem

Which reforms have been suggested by Vijay Kelkar Committee in Indian tax
system ?

(1) Reduction in Government spending
(2) Widening the tax base

(3) High tax rate

(4} Abolition of VAT

98.  vdTeAr HidwlT wElE <1 guIEy B
. ol (TEhiT) He
W/, A

%, GrEEe qaiied HOE w
T, TSGR %

(1) s
(2) weol g

(3) #H, "m0y
(4) o, g

The public debt of India is composed of
a. External Debt

b. Internal Debt

c.  Debt of Public Limited Companies
d.  Debt of Local Bodies

(1) aandb
(2) onlyb

(3) a,bandd
(4) b,candd
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99, Wk R

q. el 591 W JaTTE w9 0 @ gl

F.  AeqERIH B

B, g GEER ST T WHIHTT Hof 9ad Al T

(1) S

(2) Hamfrg

(8) war®

(4) 313 %

Repo rate means

Discount rate at which banks borrow frem RBI

Rate at which bank lends to industry

Short-term borrowing

Discount rate at which Central Government borrow from banks
aandb

aandd

b and ¢

aandc

100. 1987 wy Fmiv st siafies enfor Rl gden veam 4T Hvk g1 2

(1)
(2)
t)
(4)

forefir 8 qAEee
f snfir s AT s
e Sl sl I FrEE
i) HoRd T

What was the objective of Board of Industrial and Financial Reconstruction
established in 1987 ?

(1)
(2)
(3)
4)

Revival of Financial Sector

Modernisation of banking and industrial sectors
Rehabhilitation of sick public sector units

None of the above
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(8) yryfeen=d fifgn seea fafie STfe == wm(TE %) e, TEyfEheafifEa Swufra a1 5
FACET = H HOUE o HIG] FOIAT TAW Fe AR, 3 TS AEH T AHAR INGTRRR TG
I Herew qiamed gorm ywE wiey FoEnds -2 Inde agdaER wRard
FUATd IS T Al oqerd] FHHIS T qnteAT rEmEredn nfYr/ R eR g e e e
EERIECH :

40

(9) wE weutERadl I fafes ol do vTRIHE eue € eyl Taa st wamsaant
YA T0IM TEET AR, ue GhevehHE Svagdl INEERe STedT ITRUET Whr-1

AmAgETEe 7 farawat v w0 savas o,
oT3ell Ul
T.%. 201, EEE AW TR Fogradt Hof geh: e awd 2
(1) wnf g wad (2 g FrmerR
(3) T WHHIEA TF (4)  TIOTBFHE MR

T30, 201,

&1 TEE A I Q) T TERE T A TR, ey W TR I @) dide
AT WA 1., 201 ¥RAA IHEAE Q) R @ Pt SRR FE

TG AETES .
® ©® @& ©

3 UGHN Tega SEftadie YR vArr g JOGRATE BT QRETCN daate qieiea
IEirhald o & FERTEREEGS Geftd 9 YU SHEIhd FEA GrgdmEl. TTERET
T TAl TR Siedy ared, Afae a1 wmid 99 anus W,
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